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ベクトルの内積

ベクトルの内積

数 B＞ 第２章 空間  ＞ 第４講： 内積

x

例題

解

 ⃗a = (2, − 3, 1), ⃗b (−3, 1, 2)

⃗a ⋅ ⃗b = 2 × (−3) + (−3) × 1 + 1 × 2 = − 7

空間 , 平面 同様 次 成 立    

 

,  , 2

角   。 ,  。 

 

⃗a ⋅ ⃗b = | ⃗a | | ⃗b |cos θ

⃗a = (a1, a2, a3), ⃗b = (b1, b2, b3)

θ 0∘ ≦ θ ≦ 180∘

⃗a ⋅ ⃗b = a1b1 + a2b2 + a3b3

cos θ =
⃗a ⋅ ⃗b

| ⃗a | | ⃗b |
=

a1b1 + a2b2 + a3b3

a2
1 + a2

2 + a2
3 b2

1 + b2
2 + b2

3

次 2   内積 角  求

。

⃗a , ⃗b θ

cos θ =
⃗a ⋅ ⃗b

| ⃗a | | ⃗b |
=

−7

14 14
=

 ⃗a

 ⃗b

θ
 ⃗a − ⃗b

−
1
2



 A

 B

 C
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ベクトルの内積（三角形）

ベクトルの内積（三角形）

数 B

x

例題

解

⃗AB ⋅ ⃗AC = 1 × (−2) + 2 × 2 + 1 × 4 = 6

空間 , 平面 同様 次 成 立    

 

,  , 2

角   。 ,  。 

 

⃗a ⋅ ⃗b = | ⃗a | | ⃗b |cos θ

⃗a = (a1, a2, a3), ⃗b = (b1, b2, b3)

θ 0∘ ≦ θ ≦ 180∘

⃗a ⋅ ⃗b = a1b1 + a2b2 + a3b3

cos θ =
⃗a ⋅ ⃗b

| ⃗a | | ⃗b |
=

a1b1 + a2b2 + a3b3

a2
1 + a2

2 + a2
3 b2

1 + b2
2 + b2

3

3点  頂点  

 ,  大 求 。

A(1, 3, 2), B(2, 5, 3), C(−1, 5, 6)

△ ABC ∠BAC

cos∠BAC =
⃗AB ⋅ ⃗AC

| ⃗AB | | ⃗AC |
=

6

6 × 2 6
=

1
2

 ⃗a

 ⃗b

 A

 B

 C
∠BAC

⃗AB = (2 − 1, 5 − 3, 3 − 2) = (1, 2, 1)

⃗AC = (−1 − 1, 5 − 3, 6 − 2) = (−2, 2, 4)

θ

| ⃗AB | = 12 + 22 + 12 = 6

| ⃗AC | = (−2)2 + 22 + 42 = 2 6

 , 0∘ ≦ θ ≦ 180∘

∠BAC = 60∘
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ベクトルの垂直

ベクトルの垂直

数 B

x

例題

解

2x − y = 0

空間 垂直条件 , 次 成 立    

   

①  

② 

⃗a ≠ 0, ⃗b ≠ 0 ⃗a = (a1, a2, a3), ⃗b = (b1, b2, b3)

⃗a ⊥ ⃗b ⇔ ⃗a ⋅ ⃗b = 0

⃗a ⊥ ⃗b ⇔ a1b1 + a2b2 + a3b3 = 0

2   両方 垂直

, 大 3   求 。

⃗a = (2, − 1, 0), ⃗b = (6, − 2, 1)

⃗p

 。⃗p = (x, y, z)

 ,   ⃗a ⊥ ⃗p ⃗a ⋅ ⃗p = 0

6x − 2y + z = 0

 ,   ⃗b ⊥ ⃗p ⃗b ⋅ ⃗p = 0

 , 　　| ⃗p |2 = 32 x2 + y2 + z2 = 32

・・・①

・・・③

・・・②

① , y = 2x

①, ② ,    6x − 2(2x) + z = 0 z = − 2x ・・・⑤

・・・④

④, ⑤ ③ 代入 ,  x2 + (2x)2 + (−2x)2 = 9

 ,  9x2 = 9 x = ± 1

 ,  x = 1 y = 2, z = − 2

 ,  x = − 1 y = − 2, z = 2

, ⃗p = (1, 2, − 2), (−1, − 2, 2)

垂直条件

ベクトルの垂直条件

大 3
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